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QUESTION 1

An Ethernet interface is up and the line protocol is down. What are two possible causes? (Choose two.) 

A. There is a speed or duplex mismatch with the remote device. 

B. There is a Layer 2 mismatch in the encapsulation type. 

C. The Ethernet interface has been manually disabled. 

D. Keepalives are not being received by the local device. 

E. The Ethernet cable might not be attached properly. 

Correct Answer: AB 

 

QUESTION 2

Which two statements about Telnet and SSH are true? (Choose two.) 

A. SSH is a protocol that provides a secure remote access connection to network devices. 

B. SSH uses the well-known TCP port 23 for its communication. 

C. A Telnet network management connection is dropped when a router reboots. 

D. Telnet is a protocol that provides a secure remote access connection to network devices. 

E. Telnet is preferred over SSH for security reasons. 

Correct Answer: AC 

 

QUESTION 3

Which two commands identify the serial number of a Cisco router? (Choose two.) 

A. show run 

B. show inventory 

C. show environment 

D. show version 

E. show archive 

Correct Answer: BD 

 

QUESTION 4

100-490 Practice Test | 100-490 Study Guide | 100-490 Braindumps                                2 / 3

https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html


https://www.geekcert.com/100-490.html
2024 Latest geekcert 100-490 PDF and VCE dumps Download

Which command shows the status of power supplies and sensor temperatures? 

A. show hardware 

B. show module 

C. show environment 

D. show diag 

Correct Answer: C 

Reference: https://www.cisco.com/c/m/en_us/techdoc/dc/reference/cli/n5k/commands/showenvironment.html 

 

QUESTION 5

Which two ports on a laptop are used to gain console access to a Cisco switch? (Choose two.) 

A. DB-9 

B. USB 

C. DVI 

D. RJ-11 

E. RJ-45 Ethernet 

Correct Answer: AB 
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